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( Write an exponential equation in the form y = ab” that describes the graph shown.

Determining the Equation
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Write an exponential equation in the formy = b* + ¢ that describes the graph below.
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1. Write two different equations to represent an mcreasmg exponential functionjwith

an asymptote of y = 3, C Asame 0= l)
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—_— 2. A decreasmg exponential function has a y-intercept of 5 and an asymptote of

) y = —4. Is it still possible to wrlte more than one equation to satisfy the condmons?
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3. Write an exponential function with the following propertles (&SQW“" =l
-the base of the exponential function is 3 —) b Q
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. Write an exponential function in the form y = ab*, passing through{j(O, 6)}and
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___—"5. Challenge: Write an exponential function in the form y = ab* + ¢ with an
asymptote y = —5, passing through the following points:
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Homework: pg. 184 #1, 2, 4,5, 10, 1
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